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Chem 205 Report

Colligative Properties
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What is the purpose of adding salt to the ice bath? 5
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What is the freezing temperature of pure waler?
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Note: Atlach all the experimentally obtained data and tables.

Part 1I: Freezing Point Depression

Table 1: Molality and Freezing point of Solutions

Solute i Molality | T calculated | Ty observed | % Error
Cy2H2,00 p 0}‘;-00 - 0;33C #4"2:C &915?’;;
Hatt 2| o S| 1,86 | =3 ,0] HEy
CaCl, 3| 050 | - Q9 -G 9 5 3‘%
Fe(NO;):.9H,0 =
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Show one sample calculation for each calculated quantity (for one solutmn only).
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Part 111: Boiling Point Elevation

Table 2: Molality and Boiling Point of Solutions (in ZS.ODaSg of solvent)

Solute Mass | Moles |i | Molality | Ty, calculated | Tyobserved | % Error
NaCl (1) A 461 9o [ 9 | o 5L | 1009584 100.9 o, 0‘-‘%'%
NaCl (2
e 2,9030(0090| 2 | 4,96| 102 035 | (0/, @ | 20,8654
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s
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Show one sample calculation for each calculated quantity (for one solution only).
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1. a) What is the molality of a solution containing 2.68g 0l naphthalene (C,oHg) in - 100, 9930 ¥
38.4 g of benzene (C¢Hg)? - 4 o

b) What is the freezing point of the above solution? K; of benzene = 5.12 °C/m.
Freezing point of benzene = 5.5 °C.
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2. Calculate the molality of 6.0 M H,SO, solution. The density of lhe solulmn is
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3. A solution that coniains 55.0 g of ascorbic acid (Vitamin C) in 250.0 g of waler

freezes at =2.34°C. Calculate the molar mass (in units of g/mol) of the solute. K;
of water is 1.86°C/m.
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